t17_taxonom1 (TMTf-
FgF3Z1qqDLAArqqEFTWY67YHe2m3WLe)

October 27, 2020

Let vl_zboole O : 1=0 be given. Let vl_funct.l : 1=>0 be given. Let

ml_subset_1 : t=-1=>0 be given. Let k1_zfmisc_1 : .= be given. Let k2_z fmisc_1 :

t=>1= be given. Let k1 numbers : ¢ be given. Let vl_zreal 0 : t=-0 be given.
Let vd_metric_1 : 1=t=-0 be given. Let r3_relat.2 : :=1=0 be given. Let
kl_taxonoml : 1=1=>1=1 be given. Let k4_tarski : 1=1=- be given. Let
k2_tarski : t=1=>1 be given. Let kl_tarski : 1=t be given. Let kl_-metric_1 :
t=1=1=>1=>1=L be given. Let rl_zxreal 0 : 1=1=0 be given. Let vl_relat_1:
t=0 be given. Assume the following.

VX0.YX1.(X0 € X1)=(ml_subset_1 X0 X1) (1)
Assume the following.

VX0.VX1.VX2.((—vl_rboole 0 XO)A(((v1_funct-1
X1)A(ml_subset-1 X1 (kl_zfmisc1 (k2_zfmisc-1 (k2_zfmisc_1 X0
X0) kl-numbers))))A(vl_zreal 0 X2)))=(ml_subset_1 (k1 _taxonoml (2)
X0 X1 X2) (kl_zfmisc1 (k2_zfmisc.1 X0 X0)))

Assume the following.

VX0.VX1.k4d tarski X0 X1 = k2_tarski (k2_tarski X0 (3)
X1) (kltarski X0)

Assume the following.

VX0.VX1.((vl_funct-l X1)A(ml_subset-1 X1 (k1_zfmisc_1
(k2_zfmisc_1 (k2_zfmisc_1 X0 X0) kl-numbers))))=((vd-metric_1
X1 X0)(VX2.(ml_subset-1 X2 X0)=(VX3.(ml_subset_1

X3 X0)=(k1_metric.1 X0 X0 X1 X2 X3 = kl_metric.1 X0 X0 X1 X3 X2))))

(4)



Assume the following.

VX0.(—vl_xboole 0 X0)=(VX1.((vl_funct-1 X1)A(
ml_subset_ 1 X1 (kl_zfmisc1 (k2_zfmisc_1 (k2_zfmisc_1 X0 X0) kl_numbers))))=
(VX2.(vlzreal 0 X2)=(VX3.(ml_subset_1 X3 (kl_zfmisc-1
(k2_zfmisc.1 X0 X0)))=((X3 = kl-taronoml X0 X1 X2)=(VX4.
(ml_subset_-1 X4 X0)=(VX5.(ml_subset-1 X5 X0)=((kd_tarski
X4 X5 € X3)e(rlzxreal 0 (klometric.l X0 X0 X1 X4 X5) X2))))))))

(5)
Assume the following.
VX0.(vlrelat-1 X0)=(VX1.(r3_relat-2 X0 X1)<(VX2.
VX3.((X2 € X1)A((X3 € X1)A(kd-tarski X2 X3 € X0)))=(kd_tarski
X3 X2 € X0)))
(6)
Assume the following.
VX0VX1.k2 tarski X0 X1 = k2_tarski X1 X0 (7)
Assume the following.
VX0.VX1VX2.(ml_subset-1 X2 (kl_zfmisc_1 (8)
(k2_zfmisc.1 X0 X1)))=(vlrelat-l X2)

Theorem 1

VXO0.(—vl_zboole 0 X0)=(VX1.((vl-funct-l X1)A(
ml_subset.1 X1 (kl_zfmisc_l (k2_zfmisc1 (k2_zfmisc.1 X0 X0) kl_numbers))))=
(VX2.(vlzreal 0 X2)=((vd-metric.1 X1 X0)=(r3_relat_2
(k1_taxonoml X0 X1 X2) X0))))



